
    –    

          

Let’s look at what we have. 

𝑦 = 𝑥
 
 

𝑦 = 𝑥 + 3
   

 

𝑦 = (𝑥 − 1)

   

 

𝑦 = 𝑥 − 5

   

 



𝑦 = 2𝑥

   

 

𝑦 = −𝑥

   

 

𝑦 =
1
3
(𝑥 + 3) − 1

   

 

𝑦 = −4𝑥 + 4

   

 



           

𝑦 =
1
2

(𝑥 + 3)                                                    𝑦 =
1
2

(𝑥 + 3)

𝑦 = −𝑥 − 3                                                        𝑦 = −𝑥 − 3

𝑦 = 5(𝑥 + 4) + 2                                               𝑦 = 5(𝑥 + 4) + 2

𝑦 = (𝑥 − 19)                                                 𝑦 = (𝑥 − 19)

               

               



       
               

           

                 

                  

             

             

                 

         



                 


